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1. Which of the following expressions are

polynomials. If not give reason :

1
—2‘|‘3$—4

Wi

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XhykPTFq75Tu

2. Which of the following expressions are
polynomials. If not give reason :

z?(z — 1)

o Watch Video Solution

3. Which of the following expressions are

polynomials. If not give reason :

%(w—l—5)

° Watch Video Solution



https://dl.doubtnut.com/l/_XhykPTFq75Tu
https://dl.doubtnut.com/l/_f1mJMuAPE6hg
https://dl.doubtnut.com/l/_XN1aem4npa7z
https://dl.doubtnut.com/l/_OICNFDQwvy4T

4. Which of the following expressions are
polynomials. If not give reason :
1 1
x 2 - x 1 T
o Watch Video Solution
5. Which of the following expressions are

polynomials. If not give reason :

VB + 3z + /2

° Watch Video Solution



https://dl.doubtnut.com/l/_OICNFDQwvy4T
https://dl.doubtnut.com/l/_Jw5aVwDJCSht

6. Which of the following expressions are

polynomials. If not give reason :

m2—\3/m+7m—10

° Watch Video Solution

7. Write the coefficient of 2 and x is each of the
following polynomials.

4+2 2_3
533 xr

° Watch Video Solution



https://dl.doubtnut.com/l/_nEFEsyOimS5Q
https://dl.doubtnut.com/l/_XEpRfT3OCZBh

8. Write the coefficient of 22 and x is each of the

following polynomials.

6 — 222 + 3z° — /T

° Watch Video Solution

9. Write the coefficient of 2 and x is each of the
following polynomials.

7r:132—ac—i—2

° Watch Video Solution



https://dl.doubtnut.com/l/_f4IAYSa5YA8r
https://dl.doubtnut.com/l/_y1PjVxL0VMGv

10. Write the coefficient of 22 and x is each of the

following polynomials.

V3z2 4+ 4/2x + 0.5

° Watch Video Solution

11. Write the coefficient of 2 and x is each of the

following polynomials.

x2—;m—i—8

° Watch Video Solution



https://dl.doubtnut.com/l/_6oOuTpbPU4mM
https://dl.doubtnut.com/l/_0hSQ7zv3O5MH

12. Find the degree of the following polynomials.

1— 2y + 4

° Watch Video Solution

13. Find the degree of the following polynomials.

z3 — 2% + 626

12

° Watch Video Solution

14. Find the degree of the following polynomials.

x> (:132 + a:)

| e


https://dl.doubtnut.com/l/_fZKQewyXuT8c
https://dl.doubtnut.com/l/_lLOoUGEJsV9V
https://dl.doubtnut.com/l/_yvR4PX4fcEmh

| & Watch Video Solution

15. Find the degree of the following polynomials.

3z* + 922 + 2726

° Watch Video Solution

16. Find the degree of the following polynomials.

8> 2
2\/5194—534- 179

2

° Watch Video Solution



https://dl.doubtnut.com/l/_yvR4PX4fcEmh
https://dl.doubtnut.com/l/_NvWZzpOk2tqQ
https://dl.doubtnut.com/l/_KBymhEhelV6k

17. Rewrite the following polynimials in standard

form.

x — 9+ /Tz® + 62

o Watch Video Solution

18. Rewrite the following polynimials in standard

form.

\/ﬁw2 — ;a:‘l + ¢ — 5z®

° Watch Video Solution



https://dl.doubtnut.com/l/_A0xQJgMBeDsB
https://dl.doubtnut.com/l/_3kIDlHW0vzam

19. Rewrite the following polynimials in standard
form.

6
Tz — ga:z +4x — 1

° Watch Video Solution

20. Rewrite the following polynimials in standard

form.

7
y® + /By’ — 11 — §y+9y4

° Watch Video Solution



https://dl.doubtnut.com/l/_mwO0xomua6ww
https://dl.doubtnut.com/l/_LpOEA1cuXhSw

21. Add the following polynomials and find the
degree of the resultant polynomial.
(i) p(z) = 6z? — Tz + 2

q(z) = 62> — Tz 4+ 15

o Watch Video Solution

22. Add the following polynomials and find the
degree of the resultant polynomial.
(ii) h(z) = 72> — 6z + 1

f(z) = 72> + 17z — 9

o Watch Video Solution



https://dl.doubtnut.com/l/_VbMbAiFFB7b8
https://dl.doubtnut.com/l/_9rC8ik1lnPpj

23. Add the following polynomials and find the
degree of the resultant polynomial.
(iii) f(z) = 16z* — 522 + 9

g(z) = —62° + 7z — 15

o Watch Video Solution

24. Subtract the second polynomial from the first
polynomials and find the degree of the resultant
polynomial.

p(z) = 7Tz* + 62 — 1q(z) = 62 — 9

° Watch Video Solution



https://dl.doubtnut.com/l/_GKwJHuEY2jC7
https://dl.doubtnut.com/l/_dAc6cOGAMMCu

25. Subtract the second polynomial from the first
polynomials and find the degree of the resultant

polynomial.

fly) =6y° —Ty+29(y) = Ty + ¢°

o Watch Video Solution

26. Subtract the second polynomial from the first
polynomials and find the degree of the resultant
polynomial.

h(z) = 2° — 62 + 2 f(2) = 622 + 102 — 7

° Watch Video Solution



https://dl.doubtnut.com/l/_8BXSCo5uC96q
https://dl.doubtnut.com/l/_Q1N95Ii4gFLw

27. What should be added to 2z% + 622 — 5z + 8

to get 3z° — 2z% + 6 + 157?

° Watch Video Solution

28. What must be subtracted from

2z% +4z® — 3z + Ttoget 3z® — 22 + 22 + 17

° Watch Video Solution

29. Multiple the following polynomials and find the

degree of the resultant polynomials ?


https://dl.doubtnut.com/l/_4pnyPCRqv4fh
https://dl.doubtnut.com/l/_s9bLLw5yFWIm
https://dl.doubtnut.com/l/_yWbp4WLRfmu2

p(z) = 2> — 9q(z) = 62% + Tz — 2

° Watch Video Solution

30. Multiple the following polynomials and find the
degree of the resultant polynomials ?

f(z) =7z +2g(x) = 15z — 9

o Watch Video Solution

31. Multiple the following polynomials and find the
degree of the resultant polynomials ?

h(z) = 6x° — Tz + 1 f(z) =5z — 7



https://dl.doubtnut.com/l/_yWbp4WLRfmu2
https://dl.doubtnut.com/l/_rP0uRK65Q4TZ
https://dl.doubtnut.com/l/_r2RK5mwQaJKz

| @Y Watch Video Solution

32. The cost of a chocolate is Rs. (z + y) and Amir
bought (z + y) chocolates. Find the total amount
paid by him in terms of x and y. If x =10,y = 5 find

the amount paid by him.

° Watch Video Solution

33. The length of a rectangle is (3z + 2) units and
it's breadth is (3 — 2) units. Find its area in terms

of x. What will be the area if x = 20 units.

o Watch Video Solution



https://dl.doubtnut.com/l/_r2RK5mwQaJKz
https://dl.doubtnut.com/l/_NK4owqMVAHai
https://dl.doubtnut.com/l/_Z4nRI41C02KA

34. p(x) is a polynomial of degree 1 and q(x) is a
polynomial of degree 2. What kind of the

polynomial p(x) x q(x) is ?

° Watch Video Solution

1. Find the value of the polynomial

fy) = 6y — 3y* + 3at (i) y=1{(i) y=-1(iii)y=0

o Watch Video Solution



https://dl.doubtnut.com/l/_Z4nRI41C02KA
https://dl.doubtnut.com/l/_0XnqafJtRkAI
https://dl.doubtnut.com/l/_5c0j85zUxNco

2.1f p(z) = 2% — 2¢/2z + 1, find p(Zﬂ)

o Watch Video Solution

3. Find the zeros of the polynomial in each of the

following :

plx) =z —3

° Watch Video Solution

4. Find the zeros of the polynomial in each of the

following :


https://dl.doubtnut.com/l/_5c0j85zUxNco
https://dl.doubtnut.com/l/_uLKLP3DUSdN2
https://dl.doubtnut.com/l/_Kb5P8n0k9EUk
https://dl.doubtnut.com/l/_muX8w9dIIpqi

p(z) =2z +5

° Watch Video Solution

5. Find the zeros of the polynomial in each of the

following :

q(y) = 2y — 3

o Watch Video Solution

6. Find the zeros of the polynomial in each of the

following :

f(z) = 8z



https://dl.doubtnut.com/l/_muX8w9dIIpqi
https://dl.doubtnut.com/l/_IjEwvJGtU6NO
https://dl.doubtnut.com/l/_MITd8ulOmQ8K

| @Y Watch Video Solution

7. Find the zeros of the polynomial in each of the

following :

p(x)ax where a_="0

o Watch Video Solution

8. Find the zeros of the polynomial in each of the
following :

h(zx) = ar + b,a_="0,a,b € R

° Watch Video Solution



https://dl.doubtnut.com/l/_MITd8ulOmQ8K
https://dl.doubtnut.com/l/_el4tejEj9QAy
https://dl.doubtnut.com/l/_alOH2J36LaXg

9. Find the roots of the polynomial equations.

ot —6 =0

° Watch Video Solution

10. Find the roots of the polynomial equations.

r+3=0

° Watch Video Solution

11. Find the roots of the polynomial equations.

10z +9 =0



https://dl.doubtnut.com/l/_0fmMQaVllgyN
https://dl.doubtnut.com/l/_W20gjCx5MNS2
https://dl.doubtnut.com/l/_mDPpGiRQBcTd

| W Watch Video Solution

12. Find the roots of the polynomial equations.

9r —4 =20

° Watch Video Solution

13. Verify whether the following are zeros of the

polynomial indicated against them, or not.

1
p(w)=2m—1,w=§

o Watch Video Solution



https://dl.doubtnut.com/l/_mDPpGiRQBcTd
https://dl.doubtnut.com/l/_8LaWob3tKwFt
https://dl.doubtnut.com/l/_xQMVM7R0PnFr

14. Verify whether the following are zeros of the
polynomial indicated against them, or not.

p(z) =2 -1,z=1

° Watch Video Solution

15. Verify whether the following are zeros of the

polynomial indicated against them, or not.

p(az):aw—i—b,x:_—b
a

° Watch Video Solution



https://dl.doubtnut.com/l/_chuMZSB3B3SC
https://dl.doubtnut.com/l/_44XU8S6Fc1lZ

16. Verify whether the following are zeros of the

polynomial indicated against them, or not.

p(z) = (z+3)(z—4),z =4z = -3

° Watch Video Solution

17. Find the number of zeros of the following

polynomials represented by their graph ,

0] o (i) 4 (iii) v
R / /
\ |
" \ T 'y x
/)i \ .
v=0 f
!.
(iv) ¥ (v) Y
L g ¥ ‘
<l I\
v ¥

o Watch Video Solution



https://dl.doubtnut.com/l/_kIAUrfEeiIei
https://dl.doubtnut.com/l/_CWGhQk5L7BDf

18. If p(z) = 5z° — 3z® + Tz — 9, find (i) p(-1) (i)

p(2)

° Watch Video Solution

19. Find the zeros of the following polynomials.

p(z) =2z — 3

o Watch Video Solution

20. Find the zeros of the following polynomials.

p(z) =z —2


https://dl.doubtnut.com/l/_CWGhQk5L7BDf
https://dl.doubtnut.com/l/_Dbbs1nXoeDZS
https://dl.doubtnut.com/l/_HQC5jmWRvuXS
https://dl.doubtnut.com/l/_iS1bznrcZP2E

° Watch Video Solution

1. Check whether p(x) is a multiple of g(x) or not.

p(z) = 2° — 5z® + 42 — 3, g(z) = = — 2

° Watch Video Solution

2. By remainder theorem, find the remainder when,
p(x) is divided by g(x) where,

p(z) =2° —22° — 42z — 1,g9(z) =2z + 1

| &


https://dl.doubtnut.com/l/_iS1bznrcZP2E
https://dl.doubtnut.com/l/_1woHINc8hYsx
https://dl.doubtnut.com/l/_8UJ84pMyDbiB

| W Watch Video Solution

3. By remainder theorem, find the remainder when,
p(x) is divided by g(x) where,

p(z) = 4a® — 122° + 14z — 3, g(x) = 2z — 1

° Watch Video Solution

4. By remainder theorem, find the remainder when,
p(x) is divided by g(x) where,

p(z) = 2° — 32* + 42 + 50, g9(z) =z — 3

° Watch Video Solution



https://dl.doubtnut.com/l/_8UJ84pMyDbiB
https://dl.doubtnut.com/l/_zwbJacgU4jkI
https://dl.doubtnut.com/l/_229dfpNZawL7
https://dl.doubtnut.com/l/_QLpBvnLQ8UV1

5. Find the remainder when 3z° — 422 + 72 — 5 is

dividend by (z + 3)

° Watch Video Solution

6. What is the remainder when z2°1® 4+ 2018 is

divided by x-1.

° Watch Video Solution

7. For what value of k is the polynomial

p(z) = 22 — kx® + 3z + 10 exactly divisible by (


https://dl.doubtnut.com/l/_QLpBvnLQ8UV1
https://dl.doubtnut.com/l/_sjx0ea2yYVD7
https://dl.doubtnut.com/l/_oOLWdk4ikl0h

X-2).

° Watch Video Solution

8. If two polynomials 2z° + az® + 4z — 12 and
3 + 22 — 22 + aleave the same remainder when
divided by ( x-3) , find the value of a. and also find

the remainder.

° Watch Video Solution

9. Determine whether (z — 1) is a factor of the

following polynomials :


https://dl.doubtnut.com/l/_oOLWdk4ikl0h
https://dl.doubtnut.com/l/_dyW2D15FEcKj
https://dl.doubtnut.com/l/_JnbPpinlEg3G

3 + 522 — 10z + 4

o Watch Video Solution

10. Determine whether (z — 1) is a factor of the
following polynomials :

z* + 522 — b5z + 1

o Watch Video Solution

11. Using factor theorem, show that (x-5) is a factor

of the polynomial 2z° — 5z* — 28z + 15

° Watch Video Solution



https://dl.doubtnut.com/l/_JnbPpinlEg3G
https://dl.doubtnut.com/l/_oIvv1Wxumlrt
https://dl.doubtnut.com/l/_CbH3kJbpYZgM

12. Determine the value of m, if (z + 3) is a factor of

3 — 322 — mzx + 24

o Watch Video Solution

1
13. If both (x-2) and (a: — 5) are the factors of

az’ + 5z + b, then show that a=b .

o Watch Video Solution



https://dl.doubtnut.com/l/_CbH3kJbpYZgM
https://dl.doubtnut.com/l/_tymb0AjKvEkQ
https://dl.doubtnut.com/l/_tldzRVL9wznJ

14. If ( x1) divides the  polynomial
kx® — 22% + 25z — 26 without remainder , then

find the value of k.

° Watch Video Solution

15. Check if (z + 2) and (z — 4) are the sides of a
rectangle whose area is z® — 2z — 8 by using

factor theorem.

° Watch Video Solution



https://dl.doubtnut.com/l/_E2TEaF9VYwPJ
https://dl.doubtnut.com/l/_CwQcXQHDu3Kw

16. Find the remainder using remainder theorem ,
when

4x® — 5z + 6z — 2is divided by x-1

° Watch Video Solution

17. Find the remainder using remainder theorem ,
when

x> — Tx* — & + 6is divided by z + 2

° Watch Video Solution



https://dl.doubtnut.com/l/_m6AJGBwGwxBo
https://dl.doubtnut.com/l/_9CL2pXVD8mAg

18. Find the value of a if 2z% — 622 4+ 5axz — 9

leaves the remainder 13 when it is divided by x -2..

° Watch Video Solution

19. If the polynomials f(z) = az® + 42® + 3z — 4
and g(z) = 2> — 4z + a leave the same remainder
when divided by x-3 . Find the value of a. Also find

the remainder.

° Watch Video Solution



https://dl.doubtnut.com/l/_8hxQTaJnnRff
https://dl.doubtnut.com/l/_0BzV3VFaRO5c

20. Show that =x+4 is a factor of

3 + 622 — Tz — 60

o Watch Video Solution

21.1n (52 + 4) a factor of 5z° + 14z* — 322 — 32

° Watch Video Solution

22. Find the value of k, if (x -3 ) is a factor of

polynomials 2® — 9z% + 26z + k

o Watch Video Solution



https://dl.doubtnut.com/l/_sqlmDsg00DsG
https://dl.doubtnut.com/l/_5MMfhHdiDuwX
https://dl.doubtnut.com/l/_GiEOItsUme8I

23. Show that ( x- 3) is a factor of

23 + 922 — 2 — 105

° Watch Video Solution

24. Show that (x+4+2) is a factor of

3 — 422 — 22 + 20

o Watch Video Solution



https://dl.doubtnut.com/l/_GiEOItsUme8I
https://dl.doubtnut.com/l/_GcRsrrCiTrrI
https://dl.doubtnut.com/l/_KLrOdXDZJd2b
https://dl.doubtnut.com/l/_lJh6fYAo7DXd

1. Expand the following :

(2x + 3y + 42)°

o Watch Video Solution

2. Expand the following :

(—p+2q+ 3r)°

o Watch Video Solution

3. Expand the following :

(2p+3)(2p — 4)(2p — 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_lJh6fYAo7DXd
https://dl.doubtnut.com/l/_8f7yj77hMze6
https://dl.doubtnut.com/l/_KLSS9yRCv2xX

4. Expand the following :

(3a 4+ 1)(3a — 2)(3a + 4)

o Watch Video Solution

5.Using algebraic identity, find the coefficient of :c2,
x and constant term without actual expansion.

(z +5)(x +6)(x +7)

° Watch Video Solution



https://dl.doubtnut.com/l/_KLSS9yRCv2xX
https://dl.doubtnut.com/l/_ctIA6FLQK0uU
https://dl.doubtnut.com/l/_VyVIUzT3QYok

6. Using algebraic identity, find the coefficient of 2,
x and constant term without actual expansion.

(2z + 3)(2z — 5)(2z — 6)

° Watch Video Solution

7. If
(z +a)(z +b)(z +c) = 2° + 14z + 59z + 70,

find the value of

a-+b+c

° Watch Video Solution



https://dl.doubtnut.com/l/_xhQsJXzZ0Nog
https://dl.doubtnut.com/l/_kRuHWlmGGyKD
https://dl.doubtnut.com/l/_dqFQkpHokAIP

8. If
(z +a)(z +b)(z +c) = 2° + 14z + 59z + 70,

find the value of

1 1 1
a b C

° Watch Video Solution

o. If
(z + a)(z +b)(z +c) = z° + 14z + 59z + 70,
find the value of

a® +b° + ¢

° Watch Video Solution



https://dl.doubtnut.com/l/_dqFQkpHokAIP
https://dl.doubtnut.com/l/_jBJPh0S5Q2kX
https://dl.doubtnut.com/l/_ZZhgrfS8jnCM

10.

(z + a)(z + b)(z + ¢) = 2° + 142* + 59z + 70,

find the value of

a b C

+ +
bc ac ab

If

° Watch Video Solution

11. Expand

(3a — 4b)*

° Watch Video Solution



https://dl.doubtnut.com/l/_ZZhgrfS8jnCM
https://dl.doubtnut.com/l/_JAFrCX17DbpQ

12. Expand

(=+3)

o Watch Video Solution

13. Evaluate the following by using identities :

983

o Watch Video Solution

14. Evaluate the following by using identities :

1001°



https://dl.doubtnut.com/l/_EeO67tKglqLC
https://dl.doubtnut.com/l/_9RgcYg7YgCcN
https://dl.doubtnut.com/l/_NMvl4QzovgTQ

| o Watch Video Solution

15.If (z+y+2) =9 and (xy+ yz + zx) = 26

then find the value of 2 + y2z2

o Watch Video Solution

16. Find 27a> + 642, if 3a + 4b = 10 and ab =2

o Watch Video Solution

17.Find z° — ¢, findz — y = 5and xy =14

.


https://dl.doubtnut.com/l/_NMvl4QzovgTQ
https://dl.doubtnut.com/l/_FtOIkhMjKglV
https://dl.doubtnut.com/l/_tZIsteGa1IXJ
https://dl.doubtnut.com/l/_eAIBuJRYsXGe

| ¥ Watch Video sSolution ]

1 1
18.If a + 2 — 6, then find the value of a’ + —
a

o Watch Video Solution

! 1
19.1f 2* + — = 23, then find the value of z + —
T

1
and z° + —
T

o Watch Video Solution

1 3
20. If (y— Z) = 27, then find the value of


https://dl.doubtnut.com/l/_eAIBuJRYsXGe
https://dl.doubtnut.com/l/_2ioApWwWoKN8
https://dl.doubtnut.com/l/_pSqhsQ6uwPnb
https://dl.doubtnut.com/l/_V3MGvw2jQTWS

o Watch Video Solution

21. Simplify :

(2a + 3b + 4c) (4a® + 9b° + 16¢” — 6ab — 12bc — 8ca)

° Watch Video Solution

22.Simplify :

(z — 2y + 3z2) (a:2 + 4y* 4 92% + 2zy + 6yz — 3zcz)

° Watch Video Solution



https://dl.doubtnut.com/l/_V3MGvw2jQTWS
https://dl.doubtnut.com/l/_0RcXjZgTJSDf
https://dl.doubtnut.com/l/_0K7bOFh192pd

23. By using identity evaluate the following :

7 —10% + 33

° Watch Video Solution

24.By using identity evaluate the following :

1_|_1_27
8 8

° Watch Video Solution

25. If 2z — 3y — 4z = 0, then

8x° — 27y° — 642°

find



https://dl.doubtnut.com/l/_ro8649o1Juvw
https://dl.doubtnut.com/l/_3UIk2ODrIk2c
https://dl.doubtnut.com/l/_WJNe0XTTeWYb

| W Watch Video Solution

26. Expand the following using identities :

(7 + 2y)°

° Watch Video Solution

27. Expand the following using identities :

(4m — 3m)?

° Watch Video Solution



https://dl.doubtnut.com/l/_WJNe0XTTeWYb
https://dl.doubtnut.com/l/_mduUnCLy8Y5v
https://dl.doubtnut.com/l/_uM23ICpxnlMs

28. Expand the following using identities :

(4a + 3b)(4a — 3b)

o Watch Video Solution

29. Expand the following using identities :

(k +2)(k — 3)

° Watch Video Solution

30.Expand : (a + b — ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_jffJf0DG49qN
https://dl.doubtnut.com/l/_7nv5FA9nuteC
https://dl.doubtnut.com/l/_v5YsQYEm3xkL

31.Expand : (z + 2y + 32)°

° Watch Video Solution

32.Find the area of the square whose side length is

m-—+mn—gq

° Watch Video Solution

33. Factories the following

25m 2 — 16n>

| o WMiakl .\ tdaa Caliibkiam


https://dl.doubtnut.com/l/_v5YsQYEm3xkL
https://dl.doubtnut.com/l/_35vLwhBoG9JB
https://dl.doubtnut.com/l/_3AAxWZJbWVIo
https://dl.doubtnut.com/l/_7iiQHj3Qqss5

YVvdilil VIUCUV JUIULIVII

34. Factories the following

z* — 922

° Watch Video Solution

35. Factories the following

64m> + 27n>

° Watch Video Solution



https://dl.doubtnut.com/l/_7iiQHj3Qqss5
https://dl.doubtnut.com/l/_HwVgpgCFb6JV
https://dl.doubtnut.com/l/_n84Hf7XrqUTw

36. Factories the following

729z — 343y°

o Watch Video Solution

37. Factories 81z2 + 90z + 25

° Watch Video Solution

38.Finda® + b ifa+b=6,ab=5

o Watch Video Solution



https://dl.doubtnut.com/l/_QG0f5lPyyGZm
https://dl.doubtnut.com/l/_ZNBKhN2KrcuO
https://dl.doubtnut.com/l/_lOGVkhZ00Y9D
https://dl.doubtnut.com/l/_rsZwEkwKM17j

39. Factories (a — b)® + 7(a — b) + 10

o Watch Video Solution

40. Factories 6x° + 17z + 12

° Watch Video Solution

1. Factories the following expressions :

2a° + 4a’b + 8a’c



https://dl.doubtnut.com/l/_rsZwEkwKM17j
https://dl.doubtnut.com/l/_A0uNwxqHDDEm
https://dl.doubtnut.com/l/_LrB2kngb9ztM

| ¥ vvatcn video Solution

2. Factories the following expressions :

ab — ac — mb + mc

° Watch Video Solution

3. Factories the following :

x4+ 4z + 4

° Watch Video Solution



https://dl.doubtnut.com/l/_LrB2kngb9ztM
https://dl.doubtnut.com/l/_nh3WMhLqInoh
https://dl.doubtnut.com/l/_sDuAk5n67Amc

4. Factories the following :

3a> — 24ab + 48b>

o Watch Video Solution

5. Factories the following :

z° — 16z

° Watch Video Solution

6. Factories the following :



https://dl.doubtnut.com/l/_EnqVh4Q2rG38
https://dl.doubtnut.com/l/_Y5oh4QS9uqA2
https://dl.doubtnut.com/l/_Afm1etSCokQq

| W Watch Video Solution

7. Factories the following :

6 — 216x>

° Watch Video Solution

8. Factories the following :

9 1
a—|——2—18
a

o Watch Video Solution



https://dl.doubtnut.com/l/_Afm1etSCokQq
https://dl.doubtnut.com/l/_mSOveckcZBZT
https://dl.doubtnut.com/l/_CjTKgFlcdS1O

9. Factories the following:

422 + 9y? + 2522 + 12zy + 30yz + 20z 2

° Watch Video Solution

10. Factories the following:

2522 + 4y? + 922 — 202y + 12yz + 30z 2

° Watch Video Solution

11. Factories the following :

82 + 125y°



https://dl.doubtnut.com/l/_nZXCgZEfT5CX
https://dl.doubtnut.com/l/_x6zIeSIdleXg
https://dl.doubtnut.com/l/_KBJgaGQbCvYM

| W Watch Video Solution

12. Factories the following :

27z — 8y°

° Watch Video Solution

13. Factories the following :

a’ — 64

o Watch Video Solution



https://dl.doubtnut.com/l/_KBJgaGQbCvYM
https://dl.doubtnut.com/l/_Mb9URV8rdVY7
https://dl.doubtnut.com/l/_Mh8D7SNs5wzb

14. Factories the following :

3 + 8y + 6zy — 1

o Watch Video Solution

15. Factories the following :

1B —8m? — 2Tm3 — 18lmn

° Watch Video Solution



https://dl.doubtnut.com/l/_v8FxJM1FKfCf
https://dl.doubtnut.com/l/_ZUm6IWNNUMkX

1. Factories the following :

2 + 10z + 24

o Watch Video Solution

2. Factories the following :

22+ 47 — 12

° Watch Video Solution

3. Factories the following :

p’ — 6p — 16



https://dl.doubtnut.com/l/_c7acB6mhpqtV
https://dl.doubtnut.com/l/_NiKbYdFTEKlE
https://dl.doubtnut.com/l/_Qf7GRxeNV9Yh

| W Watch Video Solution

4. Factories the following :

2+ 72— 17t

° Watch Video Solution

5. Factories the following :

y? — 16y — 80

° Watch Video Solution



https://dl.doubtnut.com/l/_Qf7GRxeNV9Yh
https://dl.doubtnut.com/l/_UXEJo6u5SJR4
https://dl.doubtnut.com/l/_e8qDNPXl9DTI

6. Factories the following :

a’ + 10a — 600

o Watch Video Solution

7. Factories the following :

2a% + 9a + 10

° Watch Video Solution

8. Factories the following :

5x? — 29zy — 42y°



https://dl.doubtnut.com/l/_m0Yct8AYDMX1
https://dl.doubtnut.com/l/_dvrtSeU1VTvl
https://dl.doubtnut.com/l/_wH1epJ4r5rvp

| W Watch Video Solution

9. Factories the following :

9 — 18z + 18z

° Watch Video Solution

10. Factories the following :

6> + 16y + 8y2

° Watch Video Solution



https://dl.doubtnut.com/l/_wH1epJ4r5rvp
https://dl.doubtnut.com/l/_cwaZ3YD62Ah5
https://dl.doubtnut.com/l/_6CgYjPd0bxPI

11. Factories the following :

1222 + 3622y + 27y%x?

o Watch Video Solution

12. Factories the following :

(a+b)* +9(a+b) + 18

° Watch Video Solution

13. Factories the following :

(p—q)® —6(p—q) — 16



https://dl.doubtnut.com/l/_d6zSWVKzgUDb
https://dl.doubtnut.com/l/_v1DQyBZeD9as
https://dl.doubtnut.com/l/_4ANBZpIFmq64

| W Watch Video Solution

14. Factories the following :

m? + 2mn — 24n>

° Watch Video Solution

15. Factories the following :

Vvba® +2a — 3./5

° Watch Video Solution



https://dl.doubtnut.com/l/_4ANBZpIFmq64
https://dl.doubtnut.com/l/_8T4ISxBbb5Pi
https://dl.doubtnut.com/l/_0hHYyM2cYX4u

16. Factories the following :

a* — 3a® + 2

° Watch Video Solution

17. Factories the following :

8m> — 2m?n — 15mn?>

° Watch Video Solution

18. Factories the following :

1+1+2
$2 y2 Ty

| o


https://dl.doubtnut.com/l/_Y0pdHpWCGgHK
https://dl.doubtnut.com/l/_FcpP72mI4eZz
https://dl.doubtnut.com/l/_aF8jePlRBQMT

| & Watch Video Solution

19. Factories 2 + 4z — 96

° Watch Video Solution

20. Factories 22 + Tzxy — 12y

o Watch Video Solution

21. Find the quotient and remainder when
52> — 9z® 4+ 10z + 2 is divided by z + 2 using

synthetic division.


https://dl.doubtnut.com/l/_aF8jePlRBQMT
https://dl.doubtnut.com/l/_9VXQuVONYjMc
https://dl.doubtnut.com/l/_kRpd1YAkCtoB
https://dl.doubtnut.com/l/_iPmvyhnuMu2X

° Watch Video Solution

22. Find the quotient and remainder when
— 7+ 3z — 22* + 52° s divided by —1 + 4z using

synthetic division.

° Watch Video Solution

23. If the quotient on dividing 5z* + 423 + 2z + 1
by = + 3 is 5z° + az® + bz — 97 then find the

values of a,b and also remainder.

° Watch Video Solution



https://dl.doubtnut.com/l/_iPmvyhnuMu2X
https://dl.doubtnut.com/l/_EPPFQPU1NzUQ
https://dl.doubtnut.com/l/_iMhpAhPIlzyd

1. Find the quotient and remainder of the following

(42° + 62 — 23z + 18) = (z + 3)

° Watch Video Solution

2.Find the quotient and remainder of the following

(8y° — 16y + 16y — 15) =+ (2y — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_REr9iAT7guY8
https://dl.doubtnut.com/l/_eVXERVidxuEz

3. Find the quotient and remainder of the following

(82 — 1) + (22 — 1)

° Watch Video Solution

4.Find the quotient and remainder of the following

(— 18z + 142% + 242° + 18) + (37 + 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_S2KzJqzT5EQ7
https://dl.doubtnut.com/l/_kq2scbO3Jwlz

5. The area of a rectangle is z? + 7z + 12. If its

breath is (z + 3) , then find its length .

° Watch Video Solution

6. The base of a parallelogram is (52 + 4). Find its

height, if the area is 25z — 16.

° Watch Video Solution

7. The sum of (z + 5) observations is (z° + 125) .

Find the mean of the observations.



https://dl.doubtnut.com/l/_quba638nbaE4
https://dl.doubtnut.com/l/_gnbUfB5ENUpb
https://dl.doubtnut.com/l/_6EK5WGXfZTS6

| W Watch Video Solution

8. Find the quotient and remainder for the
following using synthetic division :

(2 +2* — Tz — 3) = (z — 3)

° Watch Video Solution

9. Find the quotient and remainder for the
following using synthetic division :

(z°+22° —z —4) = (z + 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_6EK5WGXfZTS6
https://dl.doubtnut.com/l/_aUfLaGlItCkB
https://dl.doubtnut.com/l/_NN2Mj45VZoox

10. Find the quotient and remainder for the
following using synthetic division :

(3z® — 22 + 7z — 3) + (z + 3)

° Watch Video Solution

1. Find the quotient and remainder for the
following using synthetic division :

(8z° — 142 — 19z — 8) + (4z + 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_9rW6SX4xWqN6
https://dl.doubtnut.com/l/_aJ45DsAw8I35

12. If the quotient obtained on dividing
(8z* — 22* + 6z — 7) by (22 +1) is
(4w3 + px? — gz + 3), then find p,qg and also the

remainder.

o Watch Video Solution

13. If the quotient obtained on dividing
3z° 4 1122 + 34z + 106 by 2 — 3 is 3z° + az + b,

then find a,b and also the remainder.

° Watch Video Solution



https://dl.doubtnut.com/l/_BL1rvb8OQnF8
https://dl.doubtnut.com/l/_TNnEGYna2C0A
https://dl.doubtnut.com/l/_AhmxxXVZcotJ

14. Find the quotient and the remainder when

10 — 4z + 3z? is divided by x - 2.

° Watch Video Solution

15. If 82° — 14z? — 192 — 8 is divided by 4z + 3

then find the quotient and the remainder.

° Watch Video Solution



https://dl.doubtnut.com/l/_AhmxxXVZcotJ
https://dl.doubtnut.com/l/_ENrYEm5pacBT

1. Factories each of the following polynomials using
synthetic division :

2 — 322 — 10z + 24

° Watch Video Solution

2. Factories each of the following polynomials using
synthetic division :

223 — 322 — 3z + 2

° Watch Video Solution



https://dl.doubtnut.com/l/_tYnUO3iPydGb
https://dl.doubtnut.com/l/_VwyzkdsL3XRs

3. Factories each of the following polynomials using
synthetic division :

— 7z + 3 + 423

° Watch Video Solution

4. Factories each of the following polynomials using
synthetic division :

3+ 2?2 — 14z — 24

° Watch Video Solution



https://dl.doubtnut.com/l/_xY7H6oA5QiDv
https://dl.doubtnut.com/l/_d3yjtFilEdyJ

5. Factories each of the following polynomials using
synthetic division :

2 — 7r +6

° Watch Video Solution

6. Factories each of the following polynomials using
synthetic division :

z3 — 102> —z + 10

° Watch Video Solution



https://dl.doubtnut.com/l/_TPrfjcvkJn4h
https://dl.doubtnut.com/l/_NIW05lEgPEMz

7. Factories 22° — 22 — 12z — 9into linear factors.

° Watch Video Solution

8. Factorize z° + 3z% — 13z — 15

° Watch Video Solution

9. Factorize z° -+ 13z + 32z + 20 into linear

factors

° Watch Video Solution



https://dl.doubtnut.com/l/_mQgsabeMUapU
https://dl.doubtnut.com/l/_0cilZSXRXq7B
https://dl.doubtnut.com/l/_k90ASFEftnSv

1. Find the GCD for the following :

p’,p't, p’

o Watch Video Solution

2. Find the GCD for the following :

3 3 _3
4x°, y°, 2

° Watch Video Solution



https://dl.doubtnut.com/l/_0A3eftlJFxID
https://dl.doubtnut.com/l/_yHmtWymerYXH

3. Find the GCD for the following :

9a2b%c, 15a°b*c*

° Watch Video Solution

4. Find the GCD for the following :

6428, 2402°

° Watch Video Solution

5. Find the GCD for the following :

ab’c’, a*b’c, a’bc?



https://dl.doubtnut.com/l/_1Ksh93UYhhrT
https://dl.doubtnut.com/l/_fp0O01NvrfBm
https://dl.doubtnut.com/l/_nkB9sEIw6mL0

| W Watch Video Solution

6. Find the GCD for the following :

35m5y3z4, 49m2yz3, 14wy2z2

° Watch Video Solution

7.Find the GCD for the following :

25ab’c, 100abe, 125ab

° Watch Video Solution



https://dl.doubtnut.com/l/_nkB9sEIw6mL0
https://dl.doubtnut.com/l/_8J2w0KriE2gk
https://dl.doubtnut.com/l/_v4ndoVwTd0Ox

8. Find the GCD for the following :

3abc, bxyz, Tpgr

o Watch Video Solution

9. Find the GCD of the following :

(2z 4+ 5), (bx + 2)

° Watch Video Solution

10. Find the GCD of the following :

m-+1 m-—+2 m+3



https://dl.doubtnut.com/l/_G8xXKoJg5qmh
https://dl.doubtnut.com/l/_JVrssDqxuJSA
https://dl.doubtnut.com/l/_AQT1dpAkLjzc

| W Watch Video Solution

11. Find the GCD of the following :

20> + a, 4a% — 1

° Watch Video Solution

12. Find the GCD of the following :

3a2, 5b°, 7c?

° Watch Video Solution



https://dl.doubtnut.com/l/_AQT1dpAkLjzc
https://dl.doubtnut.com/l/_YDxJuUemz31s
https://dl.doubtnut.com/l/_fCuTW3eKi5XG

13. Find the GCD of the following :

934—1,m2—1

o Watch Video Solution

14. Find the GCD of the following :

a® — 9az?, (a — 3z)°

° Watch Video Solution

15. Find GCD of 25z%y%z, 4522y*2°b

o Watch Video Solution



https://dl.doubtnut.com/l/_HEWEgkCxIdNe
https://dl.doubtnut.com/l/_GoBUVLlykeiM
https://dl.doubtnut.com/l/_qhGch9cVjdmK

16. Find the GCD of (y3 — 1) and (y — 1)

° Watch Video Solution

17.Find the GCD of 3z — 48 and = — Tz + 12

o Watch Video Solution

18. Find the GCD of a”, a® 7Y, @ T¥ "~

° Watch Video Solution



https://dl.doubtnut.com/l/_qhGch9cVjdmK
https://dl.doubtnut.com/l/_0gLbtz5A3rOA
https://dl.doubtnut.com/l/_N2dAJ11e2hLO
https://dl.doubtnut.com/l/_AIksgjwWVoTX

1. Draw the graph for the following

Yy = 2x

o Watch Video Solution

2. Draw the graph for the following

y=4x — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_ur3dvzW6z8Uv
https://dl.doubtnut.com/l/_ve6Gq4nTqakb

3. Draw the graph for the following

y—Ew—i—

° Watch Video Solution

4. Draw the graph for the following

3z +2y=14

° Watch Video Solution

5. Solve graphically

x+y="7xz—y=3

| =


https://dl.doubtnut.com/l/_bHS932RvtqhF
https://dl.doubtnut.com/l/_SOZl9oRR4CAC
https://dl.doubtnut.com/l/_DZqTYMBGRBTN

| & Watch Video Solution

6. Solve graphically

3r +2y=4,9¢ 4+ 6y — 12 =0

° Watch Video Solution

7.Solve graphically

° Watch Video Solution



https://dl.doubtnut.com/l/_DZqTYMBGRBTN
https://dl.doubtnut.com/l/_OrkvjLKl39He
https://dl.doubtnut.com/l/_o6H9Mv1AQxkk

8. Solve graphically

z—-—y=0,y+3=0

o Watch Video Solution

9. Solve graphically

y=2z+1y+3xz—-6=0

° Watch Video Solution

10. Solve graphically

= —3,y=3



https://dl.doubtnut.com/l/_WJGh4Qdxnvsz
https://dl.doubtnut.com/l/_TfCjXD2f5gAR
https://dl.doubtnut.com/l/_RVg7iW6yRqGH

| W Watch Video Solution

11. Two cars are 100 miles apart. If they drive
towards each other they will meet in 1 hour. If they
drive in the same direction they will meet in 2

hours. Find their speed by using graphical method.

° Watch Video Solution

12. Solve graphicallyz — y = 3,2x —y =11

° Watch Video Solution



https://dl.doubtnut.com/l/_RVg7iW6yRqGH
https://dl.doubtnut.com/l/_ZzPbunkQlsRD
https://dl.doubtnut.com/l/_qwprV8Kc2pzR

Exercise 3 11

1. Solve, using the method of substitution

2t —3y="7,5c+y =9

o Watch Video Solution

2. Solve, using the method of substitution

1.5z + 0.1y = 6.2, 3z — 0.4y = 11.2

° Watch Video Solution



https://dl.doubtnut.com/l/_b7MmS9746vmt
https://dl.doubtnut.com/l/_srVzCtttcPdR

3. Solve, using the method of substitution

10% of x + 20 % of y=24,3z — y = 20

° Watch Video Solution

4. Solve, using the method of substitution

V2z — /B3y =1,3z — /8y =0

° Watch Video Solution

5.Raman's age is three times the sum of the ages of

his two sons. After 5 years his age will be twice the


https://dl.doubtnut.com/l/_mMY8KxrnfYvk
https://dl.doubtnut.com/l/_8VcfNk12PWjD
https://dl.doubtnut.com/l/_730kcegXY7Sb

sum of the ages of his two sons. Find the age of

Raman.

o Watch Video Solution

6. The middle digit of a number between 100 and
1000 is zero and the sum of the other digit is 13. If
the digits are reversed , the number so formed
exceed the original number by 495. Find the

number.

° Watch Video Solution



https://dl.doubtnut.com/l/_730kcegXY7Sb
https://dl.doubtnut.com/l/_FEpMCWf3oUGW

7. Solve wusing the method of substitution.

or —y=095,3xr +y=11

o Watch Video Solution

1. Solve by the method of elimination

2t —y=3,3z+y=7

° Watch Video Solution



https://dl.doubtnut.com/l/_5K7AIZhgGmd4
https://dl.doubtnut.com/l/_f77UFXPdTG3D

2. Solve by the method of elimination

T—yYy=293r+2y=25

° Watch Video Solution

3. Solve by the method of elimination

Wi

g _ @2, 9_
o tE =g tg=15

° Watch Video Solution

4. Solve by the method of elimination

3(2z +y) = Tzy, 3(x + 3y) = 1lzy



https://dl.doubtnut.com/l/_azj2PhJkdoyM
https://dl.doubtnut.com/l/_4i7bZW0ysJoG
https://dl.doubtnut.com/l/_OW8MPiPIlXjC

| W Watch Video Solution

5. Solve by the method of elimination

4 3
—+5y=7—+4y=>5
x x

° Watch Video Solution

6. Solve by the method of elimination

13z + 11y = 70, 11z + 13y = 74

° Watch Video Solution



https://dl.doubtnut.com/l/_OW8MPiPIlXjC
https://dl.doubtnut.com/l/_b3ip1qfqq0og
https://dl.doubtnut.com/l/_tv3vA4iQjYip

7. The monthly income of A and B are in the ratio
3:4 and their monthly expenditures are in the ratio
5:7 . If each saves Rs. 5,000 per month, find the

monthly income of each .

° Watch Video Solution

8. Five years ago, a man was seven times as old as
his son, while five years hence, the man will be four

times as old his son. Find thie present age.

° Watch Video Solution



https://dl.doubtnut.com/l/_g9hYisgtjj4j
https://dl.doubtnut.com/l/_PadIjpqCei7H
https://dl.doubtnut.com/l/_8osPZvDNE295

9. Solve by the method of elimination.

2z +y=10,5z —y =11

° Watch Video Solution

Exercise 3 13

1. Solve by cross-multiplication method

8 —3y=12,5x — 2y =7

° Watch Video Solution



https://dl.doubtnut.com/l/_8osPZvDNE295
https://dl.doubtnut.com/l/_p0bxEz7swOks

2. Solve by cross-multiplication method

6x + 7y — 11 =0, 5z + 2y = 13

° Watch Video Solution

3. Solve by cross-multiplication method

2 3 3 1
—+—=95,———4+9=0
x Y x Y

° Watch Video Solution

4. Akshaya has 2 rupee coins and 5 rupee coins in

her purse. If in all she has 80 coins totalling Rs. 220,


https://dl.doubtnut.com/l/_g0sRm3yWSGmM
https://dl.doubtnut.com/l/_Z0Foe63Wrydu
https://dl.doubtnut.com/l/_3V9kILRJL2lL

how many coins of each kind does she have.

° Watch Video Solution

5. It takes 24 hours to fill a swimming pool using
two pipes. If the pipe of larger diameter is used for
8 hours and the pipe of the smaller diameter is
used for 18 hours. Only half of the pool is filled. How

long would each pipe take to fill the swimming pool.

o Watch Video Solution



https://dl.doubtnut.com/l/_3V9kILRJL2lL
https://dl.doubtnut.com/l/_mkM6cUmKoMls

6. Solve 5z — 2y = 10, 3z + y = 17 by the method

of cross multiplication.

° Watch Video Solution

Exercise 3 14

1. The sum of a two digit number and the number
formed by interchanging the digits is 110. If 10 is
subtracted from the first number, the new number
is 4 more than 5 times the sums of the digits of the

first number. Find the first number.

| o WAL _L vl ~_ ..


https://dl.doubtnut.com/l/_qA5Dh4TtmKSb
https://dl.doubtnut.com/l/_cKxodIa8HwIN

L T vvdallll VIQCO o0IULIVIl |

2. The sum of the numerator and denominator of a
fraction is 12. If the denominator is increased by 3,

1
the fraction becomes 7 Find the fraction.

o Watch Video Solution

3. ABCD is a cyclic quadrilateral such that
LA = (4y+20)°, 4B = (3y—5)°,ZLC = (4z)°

and /D = (7z + 5)° .Find the four angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_cKxodIa8HwIN
https://dl.doubtnut.com/l/_M3mtTnkiZgDT
https://dl.doubtnut.com/l/_nqZOmwCZcYX6
https://dl.doubtnut.com/l/_XcxU8CJgk2UP

4. On selling a T.V. at 5% gain and a fridge at 10%
gain, a shopkeeper gains Rs. 2000. But if he sells the
T.V. at 10% gains and the fridge at 5% loss, he gains
Rs. 1500 on the transaction. Find the actual price of

the T.V. and the fridge.

° Watch Video Solution

5. Two numbers are in the ratio 5:6 . If 8 is

subtracted from each of the numbers the ratio

becomes 4: 5. Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_XcxU8CJgk2UP
https://dl.doubtnut.com/l/_15ZtP74w4ZiO

6.4 Indians and 4 Chinese can do a piece of work in
3 days. While 2 Indians and 5 Chinese can finish it in
4 days. How long would it take for 1Indian to do it ?

How long would it takes for 1 Chinese to do it ?

° Watch Video Solution

7. The age of Arjun is twice the sum of the ages of
his two children. After 20 years, his age will be equal
to the sum of the ages of his children. Find the age

of the father.

° Watch Video Solution



https://dl.doubtnut.com/l/_JT5y8c25d58V
https://dl.doubtnut.com/l/_q6ym0VCGNlLW

Exercise 3 15 Multiple Choice Questions

1. If 23 +6z>+ ke +6 is exactly divisible by

(z +2),thenk =7

Answer: 11

° Watch Video Solution



https://dl.doubtnut.com/l/_nJNi8TKDfcjV
https://dl.doubtnut.com/l/_2smdGuv9PDoA

2. The root of the polynomial equation 2z +3 =0

is

1
A.g
1
B.—§
3
C.—E
2
D.—g
3
AI'ISWEI':—E

° Watch Video Solution

3. The type of the polynomial 4 — 3z° is


https://dl.doubtnut.com/l/_2smdGuv9PDoA
https://dl.doubtnut.com/l/_H3BYIKNgfqsR

A. constant polynomial

B. linear polynomial

C. quadratic polynomial

D. cubic polynomial

Answer: cubic polynomial

o Watch Video Solution

4, If z°' +51 is divided by = + 1 , then the

remainder is

A.O


https://dl.doubtnut.com/l/_H3BYIKNgfqsR
https://dl.doubtnut.com/l/_OCykD43tLeTa

B.1

C. 49

D. 50

Answer: 50

o Watch Video Solution

5.The zero of the polynomial 2z + 5 is

A5
2


https://dl.doubtnut.com/l/_OCykD43tLeTa
https://dl.doubtnut.com/l/_8m4yWSOBPvHA

Answer: — —

° Watch Video Solution

6. The sum of the polynomials
p(r) =2 —2> —2,q(z) =2 — 3z + 1

Az’ —3z —1

B.2% 4 2z% — 1

C.z° — 2z% — 3z

D.a:3—2az2—i—3a:—1


https://dl.doubtnut.com/l/_8m4yWSOBPvHA
https://dl.doubtnut.com/l/_4IHfNxmzZBAk

Answer: z° — 3z — 1

° Watch Video Solution

7. Degree of the polynomial (y3 — 2) (y3 + 1) is

A9
B.2
C.3

D.6

Answer: 6

o Watch Video Solution



https://dl.doubtnut.com/l/_4IHfNxmzZBAk
https://dl.doubtnut.com/l/_EPLpEge9OYog

8. Let the polynomials be
(1) —13¢° + 4¢° + 12¢ (2) (2* + 4) (z* + 9)
(3)44" — ¢’ +q" (4) - gy” +y Y
Then ascending order of their degree is

A. AB,D,C

B. AB,C,D

C.B,C,.DA

D.B,AC,D

Answer: B,A,C,D

° Watch Video Solution



https://dl.doubtnut.com/l/_EPLpEge9OYog
https://dl.doubtnut.com/l/_QkHCGMSPy2pr

9.If p(a) = O then ( x-a) is a

p(x)

A. divisor

B. quotient

C.remainder

D. factor

Answer: A::C

of

o Watch Video Solution



https://dl.doubtnut.com/l/_QkHCGMSPy2pr
https://dl.doubtnut.com/l/_GE8WBTNDGw46

10. Zeros of ( 2-3x) is

A.3

0

Y
| w|

Anser2
wer: —
3

° Watch Video Solution

11. Which of the following has x-1 as a factor ?


https://dl.doubtnut.com/l/_rNMbdimAZ4zh
https://dl.doubtnut.com/l/_gQpepad8Pwwh

A. 2x -1

B.3x-3

C.4x-3

D.3x-4

Answer: 3x -3

° Watch Video Solution

12.If x - 3 is a factor of p(x) , then the remainder is

A3


https://dl.doubtnut.com/l/_gQpepad8Pwwh
https://dl.doubtnut.com/l/_DyzdQofYwsy6

Answer: p(3)

° Watch Video Solution

13. (w—i—y)(a: —zy+y ) is equal to

A (z +y)°
B. (x — y)3
C.z’ + y3

D. 23 —y3


https://dl.doubtnut.com/l/_DyzdQofYwsy6
https://dl.doubtnut.com/l/_AK1uavMhDtiB

Answer: 23 + y3

° Watch Video Solution

14.(a 4+ b — ¢)® is equal to
A(a—b+c)’
B.(—a—b+c)’
C.(a+b+c)

D.(a —b—c)’

Answer: ( —a — b+ ¢)’

o Watch Video Solution



https://dl.doubtnut.com/l/_AK1uavMhDtiB
https://dl.doubtnut.com/l/_t3gxeLiiNPHT

15. In an expression az’ + bz + ¢ the sum and
product of the factors respectively,

A. a,bc

B.b,ac

C.acb

D. bc,a

Answer: b,ac

° Watch Video Solution



https://dl.doubtnut.com/l/_t3gxeLiiNPHT
https://dl.doubtnut.com/l/_zwY1E7IlZtoZ

16. If (zx +5) and (x —3) are the factors of
azx® + br + ¢, then values of a,b and c are

A.1,2,3

B. 1,2,15

C.1,2,-15

D. 1,-2,15

Answer: 1,2,-15

o Watch Video Solution



https://dl.doubtnut.com/l/_RT9zKIfGU9wu

17. Cubic polynomial may have maximum of

linear factors.

Al

B.2

C.3

D.4

Answer: 3

° Watch Video Solution



https://dl.doubtnut.com/l/_SEdKcKWwIbvJ

18. Degree of the constant polynomial is

A3

B.2

C.1

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3U7WpZOwlz65

19. Find the value of m from the equation

2z + 3y = m.If its one solutionis x=2and y=-2

A2

C.10

D.O

Answer: -2

o Watch Video Solution

20. Which of the following is a linear equations ?


https://dl.doubtnut.com/l/_8YzPKswvlv6g
https://dl.doubtnut.com/l/_2zfgeom3QAvn

2
Answer: 3x + 5 = 3

° Watch Video Solution

21. Which of the following is a solution of the

equation 2z —y =67

A (24)


https://dl.doubtnut.com/l/_2zfgeom3QAvn
https://dl.doubtnut.com/l/_CTMddDFbsDMG

B.(4,2)

C.(3,1)

D. (0,6)

Answer: (4,2)

o Watch Video Solution

22. If ( 2,3) is a solution of linear equation

2z + 3y = k then, the value of k is

A. 12

B.6


https://dl.doubtnut.com/l/_CTMddDFbsDMG
https://dl.doubtnut.com/l/_SM3cPUt7WZYI

C.0O

D.13

Answer: 13

° Watch Video Solution

23. Which condition does not satisfy the linear

equationaz +by+c =10

Aa=0b=0

B.a =0,b_=0

Ca=0,b=0,c.=0


https://dl.doubtnut.com/l/_SM3cPUt7WZYI
https://dl.doubtnut.com/l/_I4OzMOkvQihh

D.a_="0,b_=10

Answer:

° Watch Video Solution

24. Which of the following is not a linear equation is

two variable

Aax+by+c=20

B.Oz +0y+c=20

COr+by+c=0

D.ax +0y+c=0


https://dl.doubtnut.com/l/_I4OzMOkvQihh
https://dl.doubtnut.com/l/_L9GtXuoSqL1C

Answer: 0z + 0y +c =0

° Watch Video Solution

25. The value of k for which the pair of linear
equations 4z +6y —1 =0 and 22 + ky—7=10
represents parallel lines is

A k=3

B. k=2


https://dl.doubtnut.com/l/_L9GtXuoSqL1C
https://dl.doubtnut.com/l/_n9csHda11UTI

Answer: k=3

° Watch Video Solution

26. A pair of linear equations has no solution then

the graphical representation is

A le

B. s

C.los

D. s

Answer: 2

f 1


https://dl.doubtnut.com/l/_n9csHda11UTI
https://dl.doubtnut.com/l/_bzmoe3ZuYoqs

| ° Watch Video Solution

b
27. If ﬂ/—l where a;xz + byjy +c¢; = 0 and
az 2

asx + byy + co = 0 then the given pair of linear

equation has solution (s)

A. no solution

B. two solutions

C.unique

D. infinite

Answer: unique

° Watch Video Solution



https://dl.doubtnut.com/l/_bzmoe3ZuYoqs
https://dl.doubtnut.com/l/_2rEPMYdMjPnJ

b
28. If a —1/2/ﬂ where a1z + by + ¢ =0

as b2 Co

and a2x + boy + c2 = 0 then

linear equation has

the given pair of

solution (s) .

A. no solution

B. two solutions

C. infinite

D. unique

Answer: no solution

o Watch Video Solution



https://dl.doubtnut.com/l/_2rEPMYdMjPnJ
https://dl.doubtnut.com/l/_OUVzuwV66ifk

29. GCD of any two prime numbers is

B.O

C.1

D.?2

Answer: 1

° Watch Video Solution

30.The GCD of z* — y* and 22 — y? is


https://dl.doubtnut.com/l/_QdtCbWXlEizX
https://dl.doubtnut.com/l/_wjmd3TWHSvwP

Answer: 2 — y?

o Watch Video Solution

31. The polynomial 3x- 2 is a

A. linear polynomial

B. quadratic polynomial


https://dl.doubtnut.com/l/_wjmd3TWHSvwP
https://dl.doubtnut.com/l/_0WA1dfee7Q1r

C. cubic polynomial

D. constant polynomial

Answer: linear polynomials

o Watch Video Solution

32.The polynomial 4z* + 2z — 2is a

A. linear polynomial
B. quadratic polynomial
C. cubic polynomial

D. constant polynomial


https://dl.doubtnut.com/l/_0WA1dfee7Q1r
https://dl.doubtnut.com/l/_Xm1y08CrwBom

Answer: quadratic polynomial

° Watch Video Solution

33.The zero of the polynomial 2z — 5 is

A5
2

Answer: —
2

| ° Watch Video Solution


https://dl.doubtnut.com/l/_Xm1y08CrwBom
https://dl.doubtnut.com/l/_iPJceaCcBGLr

34.The root of the polynomial equation 3z — 1 =0

is

A — 1
T = 3
8 _1
.w—3
Cx=1
D.x =3
1
Answer:a::g

° Watch Video Solution



https://dl.doubtnut.com/l/_iPJceaCcBGLr
https://dl.doubtnut.com/l/_o82hd1zb7bHn
https://dl.doubtnut.com/l/_NqSS2m2wHQ44

35.Zero of (7 + 4x) is

C.7

D.4

Answer: ——
4

° Watch Video Solution

36. Which of the following has a factor ?


https://dl.doubtnut.com/l/_NqSS2m2wHQ44
https://dl.doubtnut.com/l/_1iSafiQFUcJk

Answer: 22 + 2z

° Watch Video Solution

37.If x -2 is a factor of q(x) , then the remainder is

Aq( —2)


https://dl.doubtnut.com/l/_1iSafiQFUcJk
https://dl.doubtnut.com/l/_CcUqWfAyTAyT

B.x — 2

C.0

Answer: O

o Watch Video Solution

38.(a — b)(a® +ab+b*) =

Aa®+ b+ — 3abe
B.a’ — b’

C.a>+ b



https://dl.doubtnut.com/l/_CcUqWfAyTAyT
https://dl.doubtnut.com/l/_6gqhk5lSALJU

D.a® — b?

Answer: a° — b°

° Watch Video Solution

39. The polynomial whose

(z +2)(x + 3)is

Az +52+6
B.z2 — 4
Cz?—-9

D.z2 4+ 6z + 5

factors

are


https://dl.doubtnut.com/l/_6gqhk5lSALJU
https://dl.doubtnut.com/l/_44RIgpGhd4mD

Answer: 22 + 5z + 6

° Watch Video Solution

40.( —a — b — ¢)%is equal to
A (a—b+c)’
B.(a +b—c)’
C(—a+b+c)’

D.(a+b+¢)’

Answer: (a + b + ¢)°

o Watch Video Solution



https://dl.doubtnut.com/l/_44RIgpGhd4mD
https://dl.doubtnut.com/l/_MNrH9LdB5Qrv

Exercise 3 1 Additional Questions And Answers

1. Classify the following polynomials based on

number of terms

° Watch Video Solution

2. Classify the following polynomials based on

number of terms

15%%

| o wAr_o_L vl ~_ ..o _


https://dl.doubtnut.com/l/_MNrH9LdB5Qrv
https://dl.doubtnut.com/l/_FisYFe96QxPP
https://dl.doubtnut.com/l/_KcEws3DJogc7
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3. Classify the following polynomials based on

number of terms

dz* + 223 + 1

° Watch Video Solution

4. Classify the following polynomials based on
number of terms

43

o Watch Video Solution



https://dl.doubtnut.com/l/_KcEws3DJogc7
https://dl.doubtnut.com/l/_5yURuW82icZi
https://dl.doubtnut.com/l/_84jjaTxb6NeW
https://dl.doubtnut.com/l/_ZqRyCCylQVOF

5. Classify the following polynomials based on
number of terms

T + 2

° Watch Video Solution

6. Classify the following polynomials based on

number of terms

3>

o Watch Video Solution



https://dl.doubtnut.com/l/_ZqRyCCylQVOF
https://dl.doubtnut.com/l/_rL2zDpPRPTqO

7. Classify the following polynomials based on

number of terms

y'+1

o Watch Video Solution

8. Classify the following polynomials based on

number of terms

y20 T y18 + y2

° Watch Video Solution



https://dl.doubtnut.com/l/_KKWMKnHBfd22
https://dl.doubtnut.com/l/_SAJ6ggjxfqKa

9. Classify the following polynomials based on

number of terms

o Watch Video Solution

10. Classify the following polynomials based on
number of terms

2ud +u?+3

° Watch Video Solution



https://dl.doubtnut.com/l/_VYCBopnvCLaT
https://dl.doubtnut.com/l/_tQ7eg3FshaHe

11. Classify the following polynomials based on

number of terms

° Watch Video Solution

12. Classify the following polynomials based on

number of terms

° Watch Video Solution



https://dl.doubtnut.com/l/_vsPxLTBqa80I
https://dl.doubtnut.com/l/_B6rhfcCZqLIH

13. Classify the following polynomials based on their

degree.

p(z) =3

° Watch Video Solution

14. Classify the following polynomials based on their

degree.

5

p(y) = 51/2 +1

° Watch Video Solution



https://dl.doubtnut.com/l/_ZgI1P2jccahL
https://dl.doubtnut.com/l/_WbsVHSuMizry

15. Classify the following polynomials based on their

degree.

p(z) = 22> — 2® + 42 + 1

° Watch Video Solution

16. Classify the following polynomials based on their

degree.

p(z) = 3z?

° Watch Video Solution



https://dl.doubtnut.com/l/_TCDwQJMrOHx0
https://dl.doubtnut.com/l/_zmfIgDt9hV1G

17. Classify the following polynomials based on their
degree.

p(z) =z +3

o Watch Video Solution

18. Classify the following polynomials based on their

degree.

p(z) = =7

° Watch Video Solution



https://dl.doubtnut.com/l/_GonkJlD8JQ6k
https://dl.doubtnut.com/l/_GT4PefVVhoim

19. Classify the following polynomials based on their
degree.

p(z) = 2> + 1

° Watch Video Solution

20. Classify the following polynomials based on
their degree.

p(z) = 5z* — 3z + 2

° Watch Video Solution



https://dl.doubtnut.com/l/_GcYxlVHHUYfP
https://dl.doubtnut.com/l/_K6jHcWhkaRL7

21. Classify the following polynomials based on their

degree.

p(x) = 4z

o Watch Video Solution

22. Classify the following polynomials based on

their degree.

p(z) = 5

° Watch Video Solution



https://dl.doubtnut.com/l/_2nYtlrNdVujR
https://dl.doubtnut.com/l/_0bOJZ1ZY1Nz1

23. Classify the following polynomials based on

their degree.

p(z) = /3z +1

° Watch Video Solution

24. Classify the following polynomials based on

their degree.

p(y) = y* + 3y

° Watch Video Solution



https://dl.doubtnut.com/l/_zTJJYeRRssOX
https://dl.doubtnut.com/l/_qMKce6cxSrD5

25. Find the product of given polynomials

p(z) = 32° + 2z — 2> + 8and g(z) = Tz + 2

° Watch Video Solution

26. let P(x)=4z> -3z +22°+5 and

q(z) = z° + 2z + 4find p(z) — g(z).

° Watch Video Solution

Text Book Activities


https://dl.doubtnut.com/l/_NSbqiewZT1eC
https://dl.doubtnut.com/l/_M8cNOdh6nbu4

1. Write the following polynomials in standard form.

&2

° Watch Video Solution

2. Find the value of k for the given system of linear
equations satisfying th condition below :

2x + ky = 1, 3x — by = 7 has a unique solution

o Watch Video Solution



https://dl.doubtnut.com/l/_YiEc4YghAtEJ
https://dl.doubtnut.com/l/_UJZ67EzhizSf

3. Find the value of k for the given system of linear
equations satisfying th condition below :

kx + 3y = 3, 12z + ky = 6 has no solution

° Watch Video Solution

4. Find the value of k for the given system of linear
equations satisfying th condition below :
(k—3)z +3y=k,kx + ky=12 has infinite

number of solution

° Watch Video Solution



https://dl.doubtnut.com/l/_VgJKRGgR3N1d
https://dl.doubtnut.com/l/_ucgnSWxTIHUO
https://dl.doubtnut.com/l/_LmrhnERF7otP

5. Find the value of a and b for which the given
system of linear equation has infinite number of
solutions

3z — (a+1D)y=2b— 1,52 + (1 — 2a)y = 3b

o Watch Video Solution

Unit Test

1. Let the polynomials be

(1) —13¢° + 4¢* + 129 (2) (z® + 4) (z* + 9)
5
() 4¢° — " + " @) ——y"” + ¢’ + ¢

Then ascending order of their degree is


https://dl.doubtnut.com/l/_LmrhnERF7otP
https://dl.doubtnut.com/l/_ubf7oi4U2PN3

A.AB,DC

B.AB,C,D

C.B,C,.DA

D. B,A,C,D

Answer: A::B::C::D

o Watch Video Solution

2. If ' +51 is divided by z +1 , then the

remainder is

A.O


https://dl.doubtnut.com/l/_ubf7oi4U2PN3
https://dl.doubtnut.com/l/_20PmozC1wFyW

B.1

C. 49

D. 50

Answer:

o Watch Video Solution

3. The sum of the polynomials

p(r) =2 —2* —2,q(z) =2 — 3z + 1

Az —3z—1

B.z3 + 222 — 1


https://dl.doubtnut.com/l/_20PmozC1wFyW
https://dl.doubtnut.com/l/_U2eq6KCbkGiL

C.z° — 22% — 3x

D.z3 — 222 + 3z — 1

Answer: z° — 3z — 1

° Watch Video Solution

4. Degree of the constant polynomial s

A.3

B.2

C.1


https://dl.doubtnut.com/l/_U2eq6KCbkGiL
https://dl.doubtnut.com/l/_HpwfgXoMB0rm

D.O

Answer: O

° Watch Video Solution

5. The value of k for which the pair of linear
equations 4z +6y —1 =0 and 2z + ky—7=10
represents parallel lines is

Ak=3

B.k =2

C. k=4


https://dl.doubtnut.com/l/_HpwfgXoMB0rm
https://dl.doubtnut.com/l/_3cQli1PBNMPC

D. k=-3

Answer: k=3

° Watch Video Solution

1. The cost of a chocolate is Rs. (z + y) and Amir

bought (z + y) chocolates. Find the total amount
paid by him in terms of x and y. If x =10,y = 5 find

the amount paid by him.

° Watch Video Solution



https://dl.doubtnut.com/l/_3cQli1PBNMPC
https://dl.doubtnut.com/l/_fUSpApOXz6UV

2. Find the wvalue of the polynomial

fly) = 6y — 3y* + 3at (i) y =1 (ii) y = -1 (iii) y = 0

° Watch Video Solution

3. Find the quotient and remainder of the following

8z — 1) + (22 — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_fUSpApOXz6UV
https://dl.doubtnut.com/l/_9DrqoKE0YVgT
https://dl.doubtnut.com/l/_3D0MkEHrrxyA

4. What is the remainder when z2°'® 1 2018 is

divided by x-1.

° Watch Video Solution

5. Check whether p(x) is a multiple of g(x) or not.

p(z) = z° — 5z® + 42 — 3,g9(z) = = — 2

° Watch Video Solution

6. Expand the following :

(—p+ 29+ 3r)°



https://dl.doubtnut.com/l/_9ggKte6sAM1y
https://dl.doubtnut.com/l/_Q6lPEbDd8kPK
https://dl.doubtnut.com/l/_X4YN02BPsouj

| W Watch Video Solution

7.Find the GCD for the following :

p’,pt, p’

° Watch Video Solution

1. The sum of (z + 5) observations is (z° + 125) .

Find the mean of the observations.

° Watch Video Solution



https://dl.doubtnut.com/l/_X4YN02BPsouj
https://dl.doubtnut.com/l/_RechaLc83UhW
https://dl.doubtnut.com/l/_qsdtDCvYpPDD

2. Verify whether the following are zeros of the

polynomial indicated against them, or not.

1
p(w):2w—1,w:E

° Watch Video Solution

3. Verify whether the following are zeros of the
polynomial indicated against them, or not.

pz) =2 -1,z=1

° Watch Video Solution



https://dl.doubtnut.com/l/_5jDwzJkDYNND
https://dl.doubtnut.com/l/_TaLxvUpCoY1S

4. Verify whether the following are zeros of the

polynomial indicated against them, or not.

p(w):aw—l—b,w:_—b
a

° Watch Video Solution

5. Verify whether the following are zeros of the
polynomial indicated against them, or not.

p)=(x+3)(z—4),x =4,z = —3

° Watch Video Solution



https://dl.doubtnut.com/l/_dZ5zi4frENC8
https://dl.doubtnut.com/l/_GA7ko4MqP7x8

6. Add the following polynomials and find the
degree of the resultant polynomial.
(i) p(z) = 6z? — Tz + 2

q(z) = 62> — Tz 4+ 15

o Watch Video Solution

7. Add the following polynomials and find the
degree of the resultant polynomial.
(ii) h(z) = Tz° — 62 + 1

f(z) = 72> + 17z — 9

° Watch Video Solution



https://dl.doubtnut.com/l/_IGLUr2oOFzpr
https://dl.doubtnut.com/l/_BekzKRHb62eI

8. Add the following polynomials and find the
degree of the resultant polynomial.
(iii) f(z) = 16z* — 522 + 9

g(z) = —62° + 7z — 15

o Watch Video Solution

9. Determine whether (z — 1) is a factor of the
following polynomials :

3 + 522 — 10z + 4

° Watch Video Solution



https://dl.doubtnut.com/l/_UmaU8YJxlsVU
https://dl.doubtnut.com/l/_caCutr4ZyMWL
https://dl.doubtnut.com/l/_ScKFReTOyEn9

10. Determine whether (z — 1) is a factor of the
following polynomials :

:1:4+5w2—5:1:+1

o Watch Video Solution



https://dl.doubtnut.com/l/_ScKFReTOyEn9

